
MATH 313 — HOMEWORK # 10 Due : Friday, April 15, 2016.

Reading : Schaum’s example 6.26, and definition of singularities on page 175
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2. Expand each of the following functions in a Laurent series about z = 0, and name the type of
the singularity in each case. Evaluate the integral of the function about the circle |z| = 2.
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3. Determine and classify all the singlarities of the functions

(a) f(z) =
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(2 sin z − 1)2
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(b) f(z) =
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(d) f(z) = cos(z2 + z−2)

4. Evaluate
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∮

|z|=3

z + 1

z2 − 2z
dz (c)

∮

|z|=2

3z3 + 2

(z − 1)(z2 + 9)
dz

(b)

∮

|z|=3

z + 1

z3 − 2z2
dz (d)

∮

|z|=4

3z3 + 2

(z − 1)(z2 + 9)
dz


